Step 3

A narrowing occurs between the
bottom left heart chamber and the
main artery that sends blood to the
body (aorta). The narrowing is at
the aortic valve. The narrowing
causes a reduced amount of blood
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carrying oxygen to the body. Also,
the bottom left heart chamber over-
works from having to push blood
through the narrowing.
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The type of surgery to correct
valve aortic stenosis depends on
the degree of narrowing. One option
is the opening of the valve itself
(aortic valvotomy).

Surgical
Procedure

The operation to repair aortic
stenosis is done with a median
sternotomy (chest) incision.
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